WEFFAAS: 603055 WK G4EHM NEY T 2020-115
HARY: 113525 AR G
Y : 191525 G TRIFR: B

AL MR AR A
XT “B5EAR" ERNMBAZNERERS

AR FEHE R LR ESE AN & N EAEEAE TR E . R T IERRE
B E KIS, R IR IS HER IR SE R MR AN Bl RO ST

EENFRR:

® BIEHIH A% : 8. 0370/

® ZIEjEHE A% 7.8370/ 1K

® SRR I M AR St H 3 20204F12 H 24 H

® [KAEATFRAT A B EE S EEL M A VR L, /A &) Al #4003 e CRE IR TR
S, BT, 191525) T 2020 4F 12 H 23 HisRE, 2020 4F 12
H 24 HE 8

—\ BRI AR

1. Zrp [EES B PR A TR I VP AT [2018] 17475 30k, ~ 7] 12018
F12H 21 H A AFFRAT T5. 3L i Al fiide (RFFMIRR: A4,
figr . 113525) o f4E (WL & HF MR A BR A 5] A RAT A4 A 7]
57 S AR U BA 0 ) AT 2Rk DA K AR [EHIE M 2 0% T R 6 4 8 w5207 AT IR e
BIEFARIEAR IR RATZ G, MR AR RIEA M F3RA ., R R sk me e Ik
BEEAHIL NI AT G I IR A A2 7] et R A AR AT, H54% PR A
AT NS 1 (R NEUR S WAL, s — Rl BN

R AR P1=P0/ (1+n)

B8R BB : P1= (PO+AXK) / (1+k) ;

FIRBEIFEIR HEAT: P1= (PO+AXK) / (1+n+k) ;

IR AR P1=PO-D;

iR =TiER 4T Pl= (PO—D+AXk) / (1+n+tk) .



Hor: PORNHEERTA B A, noE M SR B M AR, KON R I %
BUAC 3, ABG ROET I BEC A, DB URIS I 4 B R, PLON TS J5 3% A

20w I F R A AN/ BRI AR A AR AR A AR LI, A AT B IR A T
HAE ERES W B B B R E I BT A RS B3R EA LTI A S, HTA
TP E I RS TR L R S R IR (D o AR A A R
H AR IORAT AT e e w53 2 A N IR H B 5 e i 52 80 H 2 i,
WZ R N e [ A 42 AR 2 ) S (R e A% AT

2. MREHEIEF R EEHEE RS OCT RTS8 E A R A 7
EATFRATRER#E Y GERFR (2020) 2503 5), AT ME 1 LEE#K
Y O ds 8564 A A TF R AT 57, 803, 468 IR (LAR AR “AIKAEATFRAT” ).
AFCT 2020 4F 12 H 21 H3RAG 7 rh EB LS HA R ITMEA A Bilgsy AR HA
FIERE 2020 4F 12 H 18 HARRAE A RAT R FIESF R HECIEN], JpHsg e
ARURAT B ST HG I 3 (1) 5 1O FE AR DG 3 R AR A ) ) e i W) i o S AR i
FrE, TR RS AT

= BROBABRARARER

Ly BRIRAEATERAT A e A& R #E A R P1= (PO+AXK) / (1+k) ;

2 B i A A S B R (R NEUS S AL, 5 — AP & LD
P1=(PO+AXKk) / (1+k)= (8.03 Jo/M%+5. 19 Jo/ M X 7. 47%) / (1+7.47%) =7.83 JG
/o

3. PR HIEL IR O 7. 83 JU/ e, H 2020 4F 12 H 24 HEAR, “H%
el CRERCARAY: 191525) H 2020 4E 12 H 23 HE1EE R, 2020 4 12 A 24
H R e i

Sl /N
WL & SR AR A BR A 7]
HER
—OOF+—_H_-+=H



